Calculus Web Assignments

Web Assignments are intended to be completed with a partner. Both partners should individually work
each of the problems, followed by a collaborative discussion about the problem.

Both partners are required to participate in the “Honor-System” Grading of the Web Assignment.

Calculus: Web Assignment #5

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. The y-intercept of the line tangent to Y = X SINX at X = TTis
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3. The average rate of change of f(x) = mx + b on the interval [a, C]is

a. 0
b. 1
c. m

mc—ma+2b

d.
c—da

e. m(c—a)
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. If the average rate of change of a function on [a, b]equals zero, then the graph of the function

can be a line with a positive slope
can be a quadratic

cannot be a horizontal line

can be a line with a negative slope
is a vertical line
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. A differentiable function f has the properties that f{5) =3 and f ’(5) = 4. Given this information,

write the equation of the tangent line at X = 5.

a. y—5=4(x-3)
b. y—4=3(x-95)
c. y=5=3(x—-4)
d y—4=5x-3)
e. y—3=4(x-95)

. Differentiable functions f and g have the values shown in the table.

x| ff el g
02 |1]5]-4
113 [2]3]-3
215 [3]1] -2
3j10/4]0] -1

IfA =f+2g, thenA,(3) =

a. -2
b. 2
c. 7
d.

e. 10



7. The graph of g, is shown here. Which of the following statements are true of g at X = a ?

I. g is continuous
II. g is differentiable
III. g is increasing

I only

IIT only

I and IIT only
II and IIT only
I, 11, and III
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8. The function f whose graph is shown has f° '(x) =0atx=

a. 2 only

b. 2and>5

c. 4and?7

d 2,4,and 7

e. 2,4,5, and 7



tan 3(x + Ax) — tan(3
o. The ljm 30+ An—tan(3o) .

Ax—0 Ax
a. 0
b, 3sec’(3x)
. secz(3x)
d. 3cot(3x)
e. D.N.E.
_ 10. The graph of a function f is shown abobe. Which of the following statements about

f 1s false?
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a. f has arelative maximum at x = a
b. x=a 1isin the domain of f
c. f 1scontinuous at x =a
d lim flx) isequalto lim f(x)
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X —a X —>a

lim f{x) exists
X —>a
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